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2. All questions are compulsory.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Give two examples where Geometric mean will be the most suitable

average. )

(b) An investor buys Rs. 1500 worth of shares each month. During the first four
months he bought the shares at a price of Rs. 10, Rs. 15, Rs. 20 and Rs. 30

per share. What is the average price paid for the shares ? 2)
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(c) Co-efficient of variation and Standard deviation of a series are 60% and 24

marks respectively. Calculate its arithmetic mean. (2)

(d) The mean of a certain number of items is 20. If an observation 25 is added
to the data the mean becomes 21. Find the number of items in the original
data. (2)
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(a) What is correlation ? Differentiate between positive and negative correlation.

)

(b) An incomplete distribution is given below :

Marks Frequency
10-20 12
20-30 30
30-40 ?
40-50 65
50-60 ?
60-70 25
70-80 18

Total 229
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You are told that the Median value is 46.

Using the median find the missing frequencies. ©)
OR

The mean weight of 50 students in a class is 50 Kg. The mean weight of the
boys is 65 Kg. and that of girls is 50 Kg. Find the number of boys and girls
in the class. ®)

Fit a straight line trend to the following data by least square method :

Year 2000 2001 2002 2003 2004 2005
Sales 12 13 14 15 22 26

(in 000, Rs.)

Also estimate the sales for 2006. 9)
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10-20 12
20-30 30
30-40 ?
40-50 65
50-60 ?
60-70 25
70-80 18

W 229
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What is Time Series ? Briefly explain its components. (5)
For two groups of observation the following results were available :

Group1  Group 2

Sum of deviations from assumed mean 8 10
Sum of squares of deviations from assumed mean 40 70
Number of items 20 25
Assumed mean 5 8

Find the mean and standard deviation of the 45 observations obtained by

combining the two groups. 9)

OR
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From the following results obtain two regression equations and estimate the yield

when the rainfall is 29 cms. and the rainfall when the yield is 600 kgs.

Yield in Kg. (X) Rainfall in cms. (Y)
Mean 508.4 26.7
S.D. 36.8 4.6

The coefficient of correlation between Yield and Rainfall is 0.52.
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W 2
10
70

25
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29 N € 3R =4, v Wiy 600 f&Fmn 2

wita fmm % (X) T AW A (Y)
HEH 508.4 26.7
qAqw e 36.8 4.6

g @R wela & 9 gegay iR 0.52 7 |
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4. Compute Fishers’ ideal price index number from the following data and prove

that it satisfies both Time Reversal and Factor Reversal tests :

Items P,
A 2
B 5
C 4
D 2

9o P,q,

8 24

10 30

14 50

19 26
OR

10

13 (14)

(a) There are 60 male and 40 female workers in a factory. The standard deviation

of their wages were computed as Rs. 8 and 11 respectively. The mean

wages of the two groups were found to be equal. Compute the combined

standard deviation of the wages of all the workers.

®)

(b) The following table gives the weekly income of 160 families in a town :

Weekly-Income (Rs.)

2000-4000

4000-6000

6000-8000

8000-12000

12000-16000

16000-20000

No. of Families

20

40

50

32

16

() Calculate the lower and upper quartile income levels.
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(1) It is decided that 80% of the families should pay income tax. What is

the minimum taxable income ? 9)

frafoRaa siterst @ fFaR & smed ok one W &1 e e ik g S
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A\

RS P, 9, P,q, q,
A 2 8 24 6
B 5 10 30 5
C 4 14 50 10
D 2 19 26 13

Al

(%) T B A 60 TTW 3R 40 AZ Fad F | IR AGERA D WA e
8 3R 11 sfvenfera forg 0 1 & TRl & e worgRal @ o 7 | AR R
T AERAl & AR wHe fae @ Ao #ifvg

(@) Freafaies @ferer ¥ @ 3 160 wRarl & arafes s WS 7

waRE I () IRaR N qEn
2000-4000 20
4000-6000 40
6000-8000 50
8000-12000 32
12000-16000 16
16000-20000 2
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